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2560 PNEIL T
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] Y 1502m
T 4= Hi s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - ﬂaﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 2 09002072 FH B+ gl FZHNY=72%-RC 1:28.01 1:25.11 2:53.12
2 3 09002098 AR H BT I B I B2 DSSC 1:32.17 1:28.14 3:00.31
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4= Hi s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - ﬂaﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 4 09002076 &k JH3E = JAT VFSC 1:22.26 1:19.02 2:41.28
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO
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A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T4 =y v o LS 1213m
ks & d=bry N [3%0] 2 289m
AREB A — 3 No. SAJ-23-GS-50/91
1AH 2 A H
a— 2ty H— [ (5 50] a— 2ty H— A EH [l B2 ]
ISR - A - %Aﬁ (3 50] ISR - A - ﬂaﬂﬁ (%550 ]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (%50 ]
WIEH - D - v [:] AiEH - D - Sy (5]
ISR - F - FEAR (57 B ] ISR - F - FEAR [l B2 ]
iR - F - HHE (3 50] iR - F - HHE (%50 ]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PR <HD =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
JIEAE A%—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E Rl RA b
1 509002087 H»#i T  EH B/ R ST AT AR 1:17.93 1:14.18 2:32.11
2 8 K EE 5N TR AR 1:21.11 1:16.47 2:37.58
3 7 09002089 VEH &1 5N B b AF—F=4 1:30.09 1:27.65 2:57.74
DID NOT START [1st RUN] 1
6 09002073 EH I®T N M AR =9)57
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO
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F=870
NEAT Ag—b =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = 157 N | = 155 D N GV N
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO
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F5k [1ERANE! ¢ (57 B ] Y 1502m
T 4=y a s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - éféﬂﬁ [Z5] ISR - A - ﬂaﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 2} B 4 1L L I 5 Héf ] AA 2k
1 10 09002078  ZHjE Hi = H< ESC 1:16.45 1:13.64 2:30.09
2 9 09002088 FEH: F R B R AF—F—A 1:20.26 1:16.22 2:36.48
DID NOT START [1st RUN] 1
11 09002074 {4 BT N B HNY=7 A%—RC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE L& ]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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F5k [1ERANE! ¢ (57 B ] Y 1502m
T 4=y a s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - éféﬂﬁ [Z5] ISR - A - ﬂaﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héf ] AA 2k
1 14 09002109 @ —2E KB F=h7"FUVa 1:15.89 1:12.27 2:28.16
2 13 09002450 AR B A TV )-=SC 1:16.28 1:12.70 2:28.98
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

2530 PNEIL T
N FR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4= Hi s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - %ﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 16 09002785 #i N+ gl AT TY 1:21.16 1:19.05 2:40.21
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO
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Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4=y a s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %m [Z5] ISR - A - %m [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 HEFH %K 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = N 157 N | = 155 D N GV N
DID NOT START [1st RUN] 1
1 09002124 %48 1E+ T J V=Y F=h
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE L& ]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO
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2T 2 5 R PNELR
N FR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4= Hi s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - %ﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
117 ER G =0 TS 1:30.51 1:26.10 2:56.61
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



